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Evaluate the integral ~’1 xInxdx. s xInxdx Jal dad s

-3
2 2 2
3 x’Inx|]— | x°dx O
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Determine m if SIS m dad 2o
-_x 1,014 . & L1 6

1 dx =-tan""x* + ¢, ¢ | dx =-tan""x* + ¢
J 14xm 4 S 14xm 4

Where m = 0 m = 0 G

a. m=4 O

b. m = 2 O

O

C. m
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The differential equation Juall A48 y' = 1?’2 dulalisl) ddsleal)
.

xy .

y' = —— is separable. Find the Aoy diua alal) Jadl dagl

general solution in an explicit form.

2 y=x2+1+c O

b y = eln|x2+1|+c O

C y = elnVx?+1+c O

d. y=ln|x2+1|+c O
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Identify the integral for the surface O3S g3 ) gal) dandd) dalueal JalSal) saa
area of the surface of revolution for Jea 1 < X <2 &y =Vx ghss
the shape described by X ) aall
y =+x, 1 < x < 2, revolved about

the x—axis.

'-’, 1
a. S=2n'f 1+ —dx O
1 4x

. S=2nfz\/§[1‘+idx O
1 \ 4x

d. S=2nfl2\/§\/l+—xdx O
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A force of 10 |b stretches a spring
6 in from its natural length. Find the
work done in stretching this spring

9 in beyond its natural length

(1ft = 12 in).

a. W=15ftlb

135

D. w:—?—mm
w—fﬁﬂu;
& = i
15

W= —ft-lb
d. 2

A

34:34

Oe 6 in gali 313 10 Ib (ya 368 caal
13 aaa A Jeduall Jald) A;Ji csrahal) Al gl
bl dlgh oo sl 9 in Al

(1 ft = 12 in)

O
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A diver drops from 120 ft above the slall (358 120 ft gli5) (o el Do
water (about the height Lo o (L)& dusi dasalgl) udanl) duaia g lis))
of an Olympic platform dive). What Calabay) dlbal sl dgaid) dcyud)
is the diver’'s velocity at impact? (32 ft/sec? duilall <)

(gravitational constant 32 ft/secz).

a. —32ft/sec O
D. E ft/sec O

‘15
c. —32 7ﬁ/sec O

d. 120 ft/sec O
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Find the arc length of the curve aiall Ga gjad Gagd Job 2ag)
y:tanxforOixi—E. .Og’xf_i%,yztanx

w
4
a s= I V1 +sectxdx O

70

h. 52’4(1+sec4x)dx O
‘o

14
)

B s=’ V1 +sec?xdx O
Jo

n
x
d. s=n’ Vv1+tan® xdx O

<0
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Evaluate the integral [ e*™* dx. e dx Jalsal dad a gl

d. Inle*|+c O
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If 1 A s Bx+C 1 A 74 Bx+C < 131
= — ’ . —_— . J
x3+4x x x*+4 x3+4x x x2+4‘J ’

1
x3+4x

what is the value of | dx? t f

3. Inlx| +In[x* + 4|+ ¢ O

1 1 2
b. :Inlxl —Eln|x - 4‘ +c O

C. In|x% + 4| - ilnlxl +c O

1 .
d ~In|x| +=tan"'x + ¢ O
. 4 8
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Evaluate the integral [ x*Vx — 1dx. XV x — 1dx Ja) dad s
g - 4 2 O

a. 7\1(x—1) +§\(x—1) +—3—\tx—1) +c

b. Jax-1D7+Jx-15+J(x-1)3+¢ O
2 i —— 2 ®

C. 7\,'(x—1)+§\(x—1) +§\'(x—1)+c
2 4 2

d. s&-1)+-(x-1)+-(x-1)°+c¢ O

7 5 3
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Evaluate the integral Jal<al) Aad 2o
n R
£ 2 2 - 2 - AP
(sin® x — cos® x) dx. .| (sin"x —cos“x)dx
Jo <0
: O
d. >
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Find the area bounded by the Caliiadll G 3y guanal) Akaial) dalisa dag)

graphs of y = x> and y = 2 — x. Y=2-—x 3y = x% ouilyd
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Evaluate the integral | ——=dx, a>0 &a < —z_—zdx Jalsdl) dad s
vya“—-x

Jai-32

where a > 0
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X3

4414

X
4+x4

dx. %

Evaluate the integral | dx Jasil dad s

: O
a. Zln|4+x4|+c
b. In|4+x*|+c O
AR ET O

d. In|x?| —In|4 + x*| + ¢ O
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Which of the following is 35l e (pdf) Adlada) A30S Ay L Laa
a probability density function (pdf) eallanal)

on the indicated interval?

a. f[flx)= —cosx,[O,%] O
b. f(x)=x+2x3%][0,1] O

c. f(x)=sinx,[0,m] O

d. f(x)=2x%]0,1] O
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Find the mean of the random 430l A glall sadlia) haugia dagl
variable with the probability density padll e f(x) = 4x° (pdf) ddlaay)
function (pdf) f(x) = 4x> on the [0, 1]
interval [0, 1].

: O
d. 3

O
Wi

d. 3 O
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Find the volume of a pottery jar that Al dpas adilia 4l G338 oL} aaa 2ol
has circular cross sections of Jsd .(4 — sin ;) cm ki (il
radius (4 — sin%) cm, for N<x<2n

<2 LR

3. V=65mcm’ O

b. V=33nr*cm3 O

c. V=32rncm? O

d. V=(33n*-32r) cm’
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Find the solution of the differential Ghag y' = 2y dlalil dlsleall Sa o

equation y’ = 2y satisfying the y(1)=2 g.i\.»:.._.*l\ BEYPRA|
initial condition y(1) = 2.

a. ¥=20e" O
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In terms of A, A, and A,, identify slanall dalucal) 322 (A3 54, 9 A, AN
the area given by the integral .71'02(4 — x%) dx Jasill,
J'02(4 — x%) dx.

O
O
. 4 ®
O

d.| A;+4,
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Let R be the region bounded by 5x = 0 dhaulg dagiaal) Alkidl & R s
x=0.y:%x2andy:1.Whatis é&l\,\.’.';d\,\.;.;h.y:lgy:§x2
the volume of the solid formed by tx y9aall Joa R O)9d Oa OSS

revolving R about the x- axis?

R

OO0 | O




